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on challenging the state will their challenge be successful. The most preferred outcome for 
the state is the one in which it transgresses and the two groups of citizens fail to coordinate 
on challenging it. The state prefers not to transgress if a transgression produces a successful 
challenge from the two citizen groups. The most preferred outcome for both citizen groups 
is obviously the one in which the state does not transgress in the first place. If the state does 
transgress, though, then both citizen groups prefer the outcome in which they successfully 
challenge the state to outcomes in which they either do not challenge it or they challenge 
unsuccessfully. Both citizen groups would rather not challenge the state than participate in 
an unsuccessful challenge. Figure 7.4 illustrates the game tree for our Coordination and 
Democracy Game along with cardinal payoffs capturing how the three actors evaluate the 
different outcomes. The payoffs to the state are listed first, those to group A are listed 
second, and those to group B are listed third.

The dashed line in Figure 7.4 indicates that when group A has to choose whether to 
acquiesce or challenge, it does not know whether group B will acquiesce or challenge. In 
other words, group A and group B do not make their choices sequentially; they must make 
them simultaneously without knowing what the other is going to do. You are more familiar 
with seeing this sort of thing being captured by a strategic form game. As a result, let’s 
rewrite this particular subgame (the part of the game tree in Figure 7.4 shown in gray) in its 
equivalent strategic form. This strategic form game is shown in Figure 7.5. The only thing 
that is unusual about this game is that the first payoff in each cell of the payoff table belongs 
to the state (even though it is not a player in this particular subgame).
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Note: A and B = citizen groups; S = state.
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